i g @B <0l %< 53 o ?AF% VIN=>2T D= -

=)= AEB THEB
18 2 = 3 = 4 B 58 6 8 7 B8
10 : 00~11 :00 10 : 00~11 :00 10 :00~11 : 00
(RIEB) FEEMRE VY — REIMEEZY Y — (RERE) SEhRtEYS—
14 : 00~15:00 14 : 00~15:00 14 : 00~15:00
arlEhmREYSY — SBRhREzYY— T Nt N= T
8 8 9B 10 B 11 8 12 B 13 8 14 B
10 : 00~11 100
REHMREZYY—(R—))
14 : 00~15:00 14 : 00~15:00
“titkerahREYSY—| BRERmERtEVY—
15 8 16 B 17 B8 18 B 19 B 20 B 21 B8
10 :00~11 : 00
emhRtEYY—
14 : 00~15:00 14 : 00~15:00 14 : 00~15:00
oy BmREYS— “tHtfehEmREYSY - BEEREmREVY—
22 B 23 B 24 B8 25 8 26 8 27 8 28 B
10:00~11:00 10 : 00~11 : 00
SEHREYY— REMREEZYY— (&R
14 : 00~15:00
P N2 N= T
29 B 30 B 31 B8
10 :00~11 : 00 10 : 00~11 :00
BEHREYY— (RIEB) FEEmMEEZ VS —
14 : 00~15:00 14 : 00~15:00
i Nz N=T: orlEmhEEYSY—




